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-HERT B2 256,531,000 x7 . 283% 18,684
-G EH B& 196,741,000 * 7% 13,772
-S&Hl B& 13,757,000 7% 963
-20 £l 23,768,000 * 7% 1,664
-S38E dAFX 22,275,000 *7% 1,560
-detd £l 24,475,000 * 7% 1,714
OCCTV AIAEY S X2 4=H| 461,895
-2EE v 3,254,450, 0003 %6.293% 204,803
-Helol2s 74 eV
748,159,000 *4.754% 35,568
-TAS&E TV 635,672,000 +5.032% 31,988
-=8 =8 &= 0
2,426,725,0002 %6.825% 165,624
-l SEHEI| & CCTV
116,532,000 * 7% 8,158
—THEHERH CCTV 173,146,000 * 7% 12,121
-Ald=2el CTV 51,897,000& * 7% 3,633
2 33234l 5,000 5,000
=0l &t 5,000 5,000
oCccy 218 =7HI(01™ &X1 §)
5,000,000& 5,000
SAEEX D] DBt =3 306,620 446,040 139,420
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ot EZ 0t
BN UM 22| BE
Cigl: MES U ESBAMES 58X 22 (e e
. . rou 1 2 0 .
S - B S9(3H) - NSAY - BES S s HDS2
401 AlEHIZL S0 100,000 133,000 A38,000
01 A&l 100,000 138,000 38,000
S0 &t 100,000 138,000 A38,000
ogdE CCTv Xl 100,000,000& 100,000
405 RHaHESH| 206,620 308,040 A 101,420
01 LS EFHSHI 206,620 308,040 A101,420
S0 &t 206,620 308,040 101,420
OL= CCTV Jtolet wAl 72,720
O3|™E CCTV Itoilet 3,974,000+ 10CH 39,740
OLEE CCTV Jtolet 1,649,000 *20CH 32,980
OCCTV &S MEAI(AELIX) 2L
89,662,000 * 14 89,662
OCCTV &Xl eloldA 2
442 ,380& *100= 44,238
HY2AZH|(HE B2 ) 483,269 415,898 67,371
ol 2| 409,959 333,588 76,371
ol 2| 409,959 333,588 76,371
101 el24d| 409,959 333,588 76,371
01 236,687 177,847 58,840
204 & 236,687 177,847 58,840
OAlIZt2l=E 12,5313 %18 *x3bA[ 2++ 12& A,735
Ol - MLt BIA22 AlZts=Y(2H)
12,531 3+236G #4 A 2+x 12& 141,952
02 JIEt& B 173,272 155,741 17,531
20 & 173,272 155,741 17,531
©OPJE=t= 116,707
OB AHALIRHAIZIHEH 72 &)
3,472,080& x 1+ 12& 41,665
ORI RHAIZHHE T 72 &g
3,472,015 x 1 12& 41,665
OS2 MAH DULIHZ S9XHAIZ
HEH 92 &Y 2,781,300 x 1+ 12& 33,377
o4z 8,819
O HZLIXHAIZIHEH 72 AL
188,3702x 1Y+ 12& 2,261
OOHM 2| RHAIZTEE T 72 &)
188,3702x 1Y+ 12& 2,261
OQtE 22| RHAIZIEE T 72 &) (&l
AFRE) 276,0003 1 43 1,104
OS&E2MAH ZLIEHE 9 XHAIZF
SEH 93 AYY) 266,080 x 19+ 12& 3,193
QIIEY 1,200
O ZL| RHAIZHHE T 72 AL 720
BN 40,000 x1E+12& 480
-2eIE(R2 ¥ HMA)
20,0002 x 1122 240
OSe2 A DLIEHZ SIXHAIZ
SEH 92 A 480




SN tESE
HE: WESOAH|(QNEB )
ciel: olte ) (el me
2 . il oy 11 0f o .
SA - BB - S9I(EN) - MRAL - BYS S s HIDEY
EN; 40,0002« 18~ 122 480
Ox=U2R+E 27,836
OB AIIA 12,5313 * 12 +3BA| 2+ 123 5,264
OTHoH - THE HIAZ2 R AltI=E(23)
12,5312 x 152 *4A| 2t 123 9,023
O, HEZR|XHAIZILE T 75 &)
11,3193 +36A1 2H+2F+ 123 9,508
OSE2HME SLIHY 2SXHAIR
Heig 92 AL
9,620 *35AI2Hx1E*12& 4,041
OS+2F+d 5,603
OAZ2XHAIZHET 78 &)
3,472,080 x40/ 35+84%+ 5%+ 1 Z x 12 2,000
OQtM 22| XHAIZHH BT 72 &)
3,472,0153 x40/ 35+84%+ 5%+ 1Z 128 2,000
OSE2HMAME SLIHY 2FXHAIZ
SENR 92 AE)
2,781,390 40/ 35+84%+ 5%+ 1Z 12 1,603
OFHSAI 5,040
O, SE2AL|THAIRIEET 72 A
140,000 x2E+ 123 3,360
OSE2MHME SLIHY 2FXHAIZ
SENR 92 AE) 140,000 x 1= 122 1,680
(OFF=1-EN 5,723
O, HEZR|IXHAIILEH 75 &)
185,000 <35/40+2& 123 3,885
OSEZHHME SLIEHY 29 XHAIZ
SHEN 98 &E
175,000 35/40x 18« 12& 1,838
OS2 4| 2,344
OAZ2 X (AIZHET 78 &)
3,472,080%*84%*86%*1/30*1/7*70)4a;} 837
ORI XH(AIRMEEIT 75 AtY)
3,472,015%*84%*86%*1/30*1/7*70/\|?_*;J 837
OSSRHAE BLIEHZ YA
SEH 95 &)
2,781,3 %*84%*86%*1/30*1/7*70}4&*;] 670
=3l 73,310 82,310 29,000
JI=2&Hl 73,310 82,310 29,000
201 Let2d| 31,610 30,770 840
01 At22telH 31,610 30,770 840
=0l At 31,610 30,770 840
Ogt+=SH| 8,570
OJIZARES 5,000 =21 *12& 1,260
OJl1E5s HEES 250,000 250
O=AEX 1,000
M 20,0003 #5082 A 1,000
OZdzeld &Y
300,000 *2CH*4 01 x23] 4,800




SN QEERD

M WHS A (HSTY)
ciel: D=2 (el a2
SA - B S(B) - KISAY - BaS S S HImS2
SIEEET 5.0002 65+ 28 7080
Ot Mgt 3,0002+307}+22] 180
O=&Hl 23,040
OdlegeEa A
8,000 x21H*10 =123 20,160
ONZIHEH 2IIH Y2ER 24|
8,000 x3g 10 x12& 2,880
202 04| 28,800 38,640 A9,840
o1 =Lt 28,800 38,640 29,800
204 & 28,800 38,640 A9,840
oJlRYSET BB
20,0003 *21H x5 x12& 25,200
OAMHHET LIIH BUBZ
20,0003 x3H x5 » 12& 3,600
203 FRF=&H| 7,500 7,500
01 | 2A2IH2FEY| 3,300 3,300
20/ & 3,300 3,300
o=z 3,300, 0002 3,300
VENEREEES 4,200 4,200
=01 & 4,200 4,200
©2521 0|3t 350,000 =123 4,200
204 AR AH| 5,400 5,400
NEEEEEESET 5,400 5,400
=04 & 5,400 5,400
o= 350,000 =123 4,200
Ou+E 100,000 x12& 1,200
HRES(rEES2) 841,667 794,041 47,626
IS e 841,667 790,041 47,626
Met2e|Di2 M2 841,667 794,041 47,626
m®II2NEZ 841,667 794,041 47,626
01 JI3EES 841,667 794,041 47,626
20i & 841,667 794,041 47,626
onM=t2DI2 He=2 841,667,000 841,667




